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b. For the network shoriln,in Fig Q2(b). Determine :

i) r. il) Zi iil) Zo Go: 0C)) iv) Ay (ro : uf))

L2v

.6.*P,orl,

-)6-o 
Vo

Vi
't; -

P-rfu 
e zo

,-'lJ

OR'"-
4 a. The"fixed bias configuraiion of Fig Qa(a) has an operating point defined by Vcrq : -2Y

, ",,,,rrrd Ipq: 5.625mA,,with Ioss: 10mA and yi: -8V. Determine :

::: :::, plodule-2 ,,,,,,,, ,,, ,

3 a. Derive an expressio nfor Zi,Zo urdA; elf bias configuration with bypassed Rr.

Xtsr-- lOYt A

G -- -rv Vo

Yos, -- 40'uS

(08 Marks)

b. Explain the Construction and worting principle of n-Channel depletion type MOSFET and

draw the characteristic curves. (08 Marks)
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Fig Qa(a)
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Third Semester B.E. Degree Examination, Aug./Sept .2020

i: \ir,

Analog Electronics
Time: 3 hrs. :, 

' 
Max. Marks: 80

Note: lnsruer any FIVE full questions, choosing'ONE full question from each module.

Mti$de-f ,,,,1,1'"'"

Derive an expression for A,, Zi and,Z6,.for CE fixed bias using hybrid equivalent model.
:,, , :: , (08 Marks)

With a neat circuit explain hybrid j x model for a transistor in CE configuration. (08 Marks)

"''""" oR
2 a. Derive an expressio n for.7 i; Zio and Au for emitter - Follower configuration using re model.

158C32

(08 Marks)

v) Ar (ro:0f)).

(08 Marks)

(08 Marks)



15EC32

b. Draw the JFET common drain configuration circuit. Oerive,.$i*i,,,F and A, using small signal

,,,:, ,"'!llr:' (08 Marks)model' 
Modure-3 :i\ ::::','

a, The i/p power to a device is 10,000w at a voltage of;,1.000V. The output power is 500W and

the output imPedance is 20O.

ii) Find voltage gain in db

iiD Find input impedance. ,, 
" 

''",.,,, ,r1ff..,+,, (06 Marks)

b. Describe Miller's effect and derive un geuaHbn for Miller input an4,,=ffiput capacitanfih".u,

,=""ho*
a. Explain high frequency respons.gioEFET amplifier. . _ (06 Marks)

b. Determine Au, Zi, Aur, FLs fq1tle.":,ffi frequency response e BJT amplifier circuit shown

in Fig Q6(b). Assume ro:rr.
r.qql; l.' Zor,l ,,,,,-.i.];:,,,
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Fig Q6(b) " (lo Nlarks)
,

Module-4
7 a. Explain with neat-cireArit diagram the operafion of transistor,eiiSitt's oscillator. (08 Marks)

b. What are the e{*i s of negative feedback in an amplifi'bd-Show how bandwidth of an

amplifier incrffiee-s with negative Fee-dback. ,,, (08 Marks)

-' 'r;' li'\ OR '':f iri;Er:

a. Mentiotpthe types of Feed@ek,., nnections. Drarrr=heir block diagrams indicating i/p and

o/p signal. " (08 Marks)

b. With ri' neat circuit aad:::*;llvef rms, explain the working operation of UJT relaxation
oscillator. :, :,::. . J\-'' (08 Marks)

.#'*' ,.4,,,,,,, *riii"-t)r1!r._::: #

a."'"Explain the opeffin of class B pusli'pull amplifier and show that maximum conversion
q is 78.5% Ttd: (lo Marks)

b. The Follonv.ini{Histortion readihg-.,are available for a power amplifier Dz:0.1, D3 :0.02,
D+:0.01 wrltlilr :44, &:8Q.

D Calculate the THD-,*
ii) Determine the.fundamental power component

, iii) Calculate the tti'ta'l power.

.,,,,,.* 
,, oR

l0 a. Explain series v6,{-$e regulator using transistor.
b. Explain series Fed class A power amplifier. Show that its maximum conversion q

.t:

,::+qr.diru,

.,.

(06 Marks)

(08 Marks)
is 25oh.
(08 Marks)

'tt '" -"


